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"B" MLK.3  
uoreziJ dan ecintykoR katrapS  -   mebaL dan ítsÚ avitomokoL JT  2:6  2433 - 3023  )01:41(  .20.22  

cerebiL omanyD JT  -   B níčiJ KKS  1:7  2043 - 4823  )5,01:5,31( .20.22  
kínbyR lokoS JT  -   vonkulŠ NOTSALP KS   5,5:5,2  3623 - 9723  )21:21(  .20.22  
ecivošuhoB KKS  -  B dohcáN KKS  3:5  0223 - 6903  )5,21:5,11( .20.22  

dan vonhcyR tratS JT  uonžěnK  -   aroH ántuK atrapS JT  1:7  8733 - 8113  )5,8:5,51(  .20.22  
ysonomsoK KK  -   vonturT avitomokoL JT  0:8  3223 - 2403  )5:91(  .20.22  

:aklubaT  
 .1   ecivošuhoB KKS  71  41  1 2 0,14:0,59  971:5,822 5,  8133  92  
 .2   cerebiL omanyD JT  71  11  2 4 5,15:5,48  5,681:5,122  8133  42  
 .3  dan vonhcyR tratS JT   uonžěnK  71  01  1 6 0,35:0,38  0,002:0,802  7033  12  
 .4   ysonomsoK KK  71  01  1 6 5,75:5,87  0,281:0,622  7223  12  
 .5   aroH ántuK atrapS JT  71  9 1 7 5,46:5,17  0,612 0,291:  3813  91  
 .6  vonkulŠ NOTSALP KS    71  9 0 8 0,46:0,27  5,681:5,122  9123  81  
 .7   mebaL dan ítsÚ avitomokoL JT  71  9 0 8 0,56:0,17  0,791:0,112  1523  81  
 .8   uoreziJ dan ecintykoR katrapS  71  7 1 9 0,08:0,65  0,822:0,081  3023  51  
 .9   vonturT avitomokoL JT  71  6 1 01  0,97:0,75  5,622:5,181  2913  31  
 .01  B dohcáN KKS  71  6 1 01  0,28:0,45  5,022:5,781  6813  31  
 .11   kínbyR lokoS JT  71  5 1 11  5,87:5,75  0,512:0,391  6713  11  
 .21  B níčiJ KKS  71  1 0 61  0,001:0,63  5,432:5,371  8913  2 
 
 
 uoreziJ dan ecintykoR katrapS  2433  2:6  3023  .L .n ítsÚ avitomokoL JT  
   )01:41(  

 rteP HCUONAJ  255  2:2  335  kedaR ÝKCEVOLAJ  
 .ts kěnedZ ÝNTOVON  145  3:1  735  fesoJ ANELHOR  
 rteP SAŘAM  555  1:3  805  ÁHAZ .ts nitraM AKL  
 naliM KEŠÁLAV  975  1:3  725  ířiJ KEPÍŠ  
 .lm ířiJ KEBÁRD  855  1:3  835  naliM KEČÍLĚB  
 .ts ířiJ KEBÁRD  755  2:2  065  nitraM ATABRV  
 

 :íčdohzor fesoJ KEČÁMYD  
 :ůkávid 8 

 :olavrt ínáktu 03:3  
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 cerebiL omanyD JT  2043  1:7  4823  B níčiJ KKS  
  )5,01:5,31(  

 hcětjoV NAJORT  075  3:1  565  levaP ADUOL  
 valsidaL RASJAW  415  2:2  705  nitraM KEČÁZAM  
 )*( namoR AKLUŽEŽ  145  5,1:5,2  645  rímidalV KÁHEŘ  
 hcětjoV ANICEP  316  1:3  955  tíV ÝKSNAŇALP  
 kěnedZ ANICEP  065  2:2  755  rímidalV ATALVAP  
 .lm  valsidaL RASJAW  406  1:3  055  ÍŘK valsoraJ Ž  
 

 :ínádířts šákuL ŠERIJ + namoR AKLUŽEŽ :udoh .13 do  
 :íčdohzor  VETSŽURD ÍCUODEV - 

 :ůkávid 32  
 :olavrt ínáktu 80:3  

 
 kínbyR lokoS JT  3623  5,5:5,2  9723  vonkulŠ NOTSALP KS   
   )21:21(  

 valcáV ŘÁLOK  606  0:4  515  éneR AKREMEH  
 šámoT RELLŰM  155  1:3  315  K naJ NADLO  
 valsoriM KEŠUD  235  3:1  706  rteP KEČÍLHOK  
 jeřdnO ÝNTSATŠ  715  2:2  715  nínotnA ALRTOK  
 ířiJ KEČÍNOMK  415  3:1  245  rteP RANJAV  
 ířiJ ÝKCIŠEN  345  3:1  585  fesoJ ÝKCINABUR  
 

 :íčdohzor ířiJ RELLÜM  
 :ůkávid 51  

 :olavrt ínáktu 02:3  
 
 ecivošuhoB KKS  0223  3:5  6903  B dohcáN KKS  
  )5,21:5,11(  

 naliM KEČÍNREP  365  1:3  494  šelA ÝHCIT  
 šákuL KELÍŘAD  905  2:2  305  šoliM ÝKSELOV  
 valsoriM RADJENŠ  865  3:1  165  naJ NROH  
 nitraM KEČÍNREP  815  2:2  025  šámoT REJAM  
 ířiJ DÁREMES  365  2:2  815  šámoT ŮMADA  
 rímoraJ TÁNH  994  5,2:5,1  005  naliM ŠODJAG  
 

 :íčdohzor fedoJ AREVED  
 :ůkávid 02  

 :olavrt ínáktu 00:3  
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dan vonhcyR tratS JT  uonžěnK  8733  1:7  8113  aroH ántuK atrapS JT  
   )5,8:5,51(  

 robilaD RDNASK  606  1:3  515  kěnedZ NAMHCJAR  
 valsoriM KÍLZNAH  075  5,0:5,3  925  rímidalV ÝLOH  
 tjoV KEPÍŠ hcě  016  0:4  445  valsoraJ KEČÍLVAH  
 )*( nitraM ÝKSVOKALOH  964  4:0  235  rteP SUD  
 nitraM KÁHIČ  075  2:2  505  šámoT KENÍLEJ  
 nitraM KEMIZDOP  355  1:3  394  ířiJ AROBRAB  
 

 :ínádířts levaP KENÁŠUD + nitraM ÝKSVOKALOH :udoh .16 do  
 :íčdohzor ířiJ AHCÁP  

 :ůkávid 01  
ínáktu   :olavrt 03:3  

 
 ysonomsoK KK  3223  0:8  2403  vonturT avitomokoL JT  
   )5:91(  

 šámoT NOLATJAB  545  1:3  525  keraM KEŠLP  
 kedaR ČJAT  835  1:3  805  leraK LÍVHCOTARK  
 kedaR KÁROH  715  1:3  605  valsoriM LEŽUK  
 rteP KÁVON  125  1:3  084  valsoraJ KEČÍNEJ  
 šobuL ŠENEB  165  1:3  955  lahciM KEČLV  
 valsorěV APÍŘ  145  0:4  464  valsoraJ OKSUJ  
 

 :íčdohzor valsidalV ČJAT  
 :ůkávid 21  

 :olavrt ínáktu 75:2  
 

:ůkíndarhán ytratS  

 :trats .2 )47500 ,vonturT( valsoraJ OKSUJ  

 :trats .1 R( naliM KEŠÁLAV ,)19061 ,vonkulŠ( éneR AKREMEH  ÝKSVOKALOH ,)92341 ,ecintyko
)55060 ,vonhcyR( nitraM  

:ůcviltondej ídařoP  
 .1  nitraM KEMIZDOP   vonhcyR  7,775  9 / 8  
 .2  robilaD RDNASK   vonhcyR  0,775  9 / 8  
 .3  šákuL ŠERIJ   cerebiL .nyD  0,175  8 / 8  
 .4  valsoriM RADJENŠ   ecivošuhoB  6,075  8 / 8  
 .5  řiJ DÁREMES í  ecivošuhoB  3,965  8 / 8  
 .6  kěnedZ ANICEP   cerebiL .nyD  7,665  8 / 8  
 .7  naliM KEČÍNREP   ecivošuhoB  5,365  8 / 8  
 .8  hcětjoV ANICEP   cerebiL .nyD  1,365  8 / 8  
 .9  naliM KEČÍLĚB   .L/n ítsÚ .koL  1,165  9 / 9  
 .01  šobuL ŠENEB   ysonomsoK  1,065  8 / 7  
 .11   KEBÁRD .lm ířiJ   ecintykoR  7,755  8 / 8  
 .21  šákuL KELÍŘAD   ecivošuhoB  8,655  8 / 8  
 .31  valsoriM ÝLAM   vonkulŠ  0,655  01 / 7  
 .41  nitraM KÁHIČ   vonhcyR  5,555  9 / 9  
 .51  nitraM ATABRV   .L/n ítsÚ .koL  0,455  9 / 8  
 .61  levaP ADUOL  B níčiJ  8,255  9 / 9  
 .71  M ÝKSVOTJERG nali   .L/n ítsÚ .koL  1,155  9 / 8  
 .81  rteP RANJAV   vonkulŠ  5,055  01 / 01  
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 .91  naJ NROH  B dohcáN  3,055  9 / 9  
 .02  fesoJ ÝKCINABUR   vonkulŠ  0,055  01 / 01  
 .12  valsoraJ KEČÍNEJ   vonturT  7,945  9 / 8  
 .22  levaP AHÍŘ   ysonomsoK  1,945  8 / 6  
 .32  fesoJ ADJEZ   .nyD  cerebiL  4,845  8 / 8  
 .42  rteP KEČÍLHOK   vonkulŠ  7,745  01 / 9  
 .52  valsoriM LEŽUK   vonturT  0,745  9 / 9  
 .62  kedaR GNUJ   vonhcyR  0,745  9 / 7  
 .72  valcáV ŘÁLOK   kínbyR  0,645  9 / 8  
 .82  ířiJ ÝKCIŠEN   kínbyR  9,545  9 / 6  
 .92  valsoriM KÍLZNAH   vonhcyR  8,545  / 7  9 
 .03  lahciM KEČLV   vonturT  4,545  9 / 9  
 .13  šámoT ŮMADA  B dohcáN  4,545  9 / 7  
 .23  rímidalV KÁHEŘ  B níčiJ  9,345  9 / 7  
 .33  valsorěV APÍŘ   ysonomsoK  7,245  8 / 8  
 .43  ířiJ KEČÍNOMK   kínbyR  8,145  9 / 9  
 .53  rteP SAŘAM   ecintykoR  1,145  8 / 8  
 .63  moT KENÍLEJ šá   aroH .K  6,045  01 / 9  
 .73  rímidalV ÝLOH   aroH .K  4,045  01 / 01  
 .83  rteP KÁVON   ysonomsoK  9,835  8 / 7  
 .93  .ts kěnedZ ÝNTOVON   ecintykoR  4,835  8 / 8  
 .04  ířiJ KEPÍŠ   .L/n ítsÚ .koL  1,735  9 / 7  
 .14  šelA ÝHCIT  B dohcáN  3,635  9 / 9  
 .24  ířiJ AROBRAB  H .K  aro  2,535  01 / 01  
 .34  nitraM KEČÍNREP   ecivošuhoB  3,435  8 / 8  
 .44  šámoT RELLŰM   kínbyR  6,335  9 / 8  
 .54  šámoT NOLATJAB   ysonomsoK  7,235  8 / 6  
 .64  .lm  valsidaL RASJAW   cerebiL .nyD  4,235  8 / 7  
 .74  šámoT REJAM  B dohcáN  8,135  9 / 9  
 .84  hcětjoV KEPÍŠ  yR  vonhc  5,135  9 / 6  
 .94  .ts ířiJ KEBÁRD   ecintykoR  1,135  8 / 6  
 .05  kedaR ČJAT   ysonomsoK  3,925  8 / 7  
 .15  fesoJ ANELHOR   .L/n ítsÚ .koL  1,725  9 / 6  
 .25  valsoraJ ŽÍŘK  B níčiJ  6,625  9 / 8  
 .35  valsoraJ ŘÁKŠOD   ysonomsoK  0,625  8 / 7  
 .45  kedaR KÁŠURAM  nkulŠ  vo  9,525  01 / 9  
 .55  šoliM ÝKSELOV  B dohcáN  7,425  9 / 7  
 .65  levaP KENÁŠUD   vonhcyR  0,425  9 / 6  
 .75  naliM ŠODJAG  B dohcáN  3,225  9 / 8  
 .85  kěnedZ NAMHCJAR   aroH .K  5,125  01 / 9  
 .95  rteP SUD   aroH .K  5,025  01 / 9  
 .06  jeřdnO ÝNTSATŠ   kínbyR  3,025  9 / 7  
 .16  keraM KEŠLP   vonturT  3,025  9 / 7  
 .26  tíV ÝKSNAŇALP  B níčiJ  2,025  9 / 8  
 .36  valsoriM KEŠUD   kínbyR  8,815  9 / 8  
 .46  leraK LÍVHCOTARK   vonturT  0,515  9 / 9  
 .56  rteP HCUONAJ   ecintykoR  0,415  8 / 8  
 .66  nínotnA ALRTOK   vonkulŠ  2,315  01 / 8  
 .76   KÁLUKČRH lahciM   aroH .K  4,305  01 / 7  
  

 


